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Summative Assessment

1. Ramu says, "If log;yx = 0, value of x = 0".

Do you agree with him ? Give reason.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_2kl9jIWGodpv

° Watch Video Solution

2. Determine 'x' so that 2 is the slope of the

line passing through A (-2, 4) and B(x, -2).

o Watch Video Solution

3.-3, 0 and 2 are the zeroes of the polynomial

p(z) = 2> + (a — 1)z* + bz + ¢,findaand c.

° Watch Video Solution



https://dl.doubtnut.com/l/_2kl9jIWGodpv
https://dl.doubtnut.com/l/_cmOCXXzKzJGA
https://dl.doubtnut.com/l/_1F0vvJj9abqt
https://dl.doubtnut.com/l/_IUvCiyRaX7Ro

4. Find the discriminant of the quadratic
equation 3z? — 5z +2 = 0 and hence write

the nature of its roots.

° Watch Video Solution

5.Find the 11*h term of the AP.: 15, 12,9, .....

° Watch Video Solution



https://dl.doubtnut.com/l/_IUvCiyRaX7Ro
https://dl.doubtnut.com/l/_zOrr9tYr2CMx

6. If A={1,2,3}, B=1{3,4,5}, then find

A— Band B — A.

o Watch Video Solution

7. Write any two linear polynomials having one

term and three terms.

o Watch Video Solution



https://dl.doubtnut.com/l/_vGVn3vAwvRgv
https://dl.doubtnut.com/l/_wyQGt35jyALl

8.If A={x:xis afactorof 12} and B={x: x is a

factor of 6}, then find A U Band A N B.

° Watch Video Solution

9. Find the roots of quadratic equation
z? +4z+3=0 by "Completing Square

method".

° Watch Video Solution



https://dl.doubtnut.com/l/_gnLIBxpl1rNl
https://dl.doubtnut.com/l/_YEgzKsRMJDRN

10. For what value of 'm' in the following,
mzx + 4y = 10 and 9z 4 12y = 30 system of

equations will have no solution ? Why ?

o Watch Video Solution

1. Which term of the G.P.: \/5, 2, 2\/5, 4, .. is

327

° Watch Video Solution



https://dl.doubtnut.com/l/_HtcZwAYiJKj1
https://dl.doubtnut.com/l/_4IIs0hE8Wy9C

12 If 22+ y? = 10z, prove  that

2log(z + y) = logx + logy + 2log2 + log 3.

o Watch Video Solution

13. Shashanka said that (z 4+ 1)* = 2(z — 3)

is a quadratic equation. Do you agree ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cV0J9A9SQBMv
https://dl.doubtnut.com/l/_mzfBS8avsAV2

14. Use Euclid's division lemma to show that
the square of any positive integer is of the
form 5n or Hn + 1 or 5n + 4, where n is a

whole number.

° Watch Video Solution

15. Show that /5 — /3 is an irrational

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_gHvQY8ZbdIT9
https://dl.doubtnut.com/l/_EiXyBlaTlRyE
https://dl.doubtnut.com/l/_OC8d84i5eAxy

16. Draw a graph for the polynomial
p(z) = 2* + 3z — 4 and find its zeros from

the graph.

o Watch Video Solution

17. Draw the graph of z +y =11 and
x —y = 5. Find the solution of the pair of

linear equations.

o Watch Video Solution



https://dl.doubtnut.com/l/_OC8d84i5eAxy
https://dl.doubtnut.com/l/_oIOIPybDwknh
https://dl.doubtnut.com/l/_RuUC5A1b7Ry6

18. A train travels 360 km at a uniform speed. If
the speed had been 5 km/h more, if would
have taken 1 hour less for the same journey.

Find the speed of the train.

° Watch Video Solution

19. Find the sum of all the integers between 1

to 50 which are not divisible by 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_RuUC5A1b7Ry6
https://dl.doubtnut.com/l/_5cFHJ92DNzRj

20. Find the area of a rhombus ABCD, whose
vertices taken in order, are A (-1, 1), B(1, -2), C(3,

1) and D(1, 4).

o Watch Video Solution

21.If A={x: xis a prime less than 20} and B = {x

: X Is a whole number less than 10}, then verify

n(A U B) = n(A) + n(B) — n(A N B).

o Watch Video Solution



https://dl.doubtnut.com/l/_WJQnDHJ6a9ZG
https://dl.doubtnut.com/l/_vU2ODCVFprip
https://dl.doubtnut.com/l/_eMA8DQrKwLEc

22. Ramu says, "If log;q x = 0, value of z = 0".

Do you agree with him ? Give reason.

° Watch Video Solution

23. Determine 'x' so that 2 is the slope of the

line passing through A (-2, 4) and B(x, -2).

o Watch Video Solution



https://dl.doubtnut.com/l/_eMA8DQrKwLEc
https://dl.doubtnut.com/l/_fSyuNVehfeol

24.-3,0 and 2 are the zeroes of the polynomial

p(z) = 2° + (a — 1)z + bz + ¢, find aand c.

° Watch Video Solution

25. Find the discriminant of the quadratic
equation 3z? — 5z + 2 = 0 and hence write

the nature of its roots.

° Watch Video Solution



https://dl.doubtnut.com/l/_wqMam4qwELxD
https://dl.doubtnut.com/l/_H9QsdxUbfzlV

26. Find the 11°h term of the AP.: 15,12, 9, ....

o Watch Video Solution

27. If A ={1,2,3}, B={3,4,5}, then find

A— Band B — A.

o Watch Video Solution

28. Write any two linear polynomials having

one term and three terms.



https://dl.doubtnut.com/l/_BnNjkRTxH1Kx
https://dl.doubtnut.com/l/_giKiMCy7nOoA
https://dl.doubtnut.com/l/_DygotEnMv4dH

o Watch Video Solution

29.If A={x:xis afactorof 12} and B={x: x is a

factor of 6}, then find A U Band A N B.

o Watch Video Solution

30. Find the roots of quadratic equation
z? +4z+3=0 by "Completing Square

method".

o Watch Video Solution



https://dl.doubtnut.com/l/_DygotEnMv4dH
https://dl.doubtnut.com/l/_cOodSfCeRaDb
https://dl.doubtnut.com/l/_BTjYQ7H4bZeu

31. For what value of 'm' in the following,
mx + 4y = 10 and 9z + 12y = 30 system of

equations will have no solution ? Why ?

o Watch Video Solution

32. Which term of the G.P.: \/Z 2, 2\/5, 4, ... is

327

o Watch Video Solution



https://dl.doubtnut.com/l/_BTjYQ7H4bZeu
https://dl.doubtnut.com/l/_YDV4tChFFWuL
https://dl.doubtnut.com/l/_0lRSyjJu7BQl
https://dl.doubtnut.com/l/_v4KD1Y6beR4e

33. If z?+49y® =102y, prove that

2log(z + y) = logx + logy + 21log2 + log 3.

° Watch Video Solution

34. Shashanka said that (z + 1)° = 2(z — 3)

is a quadratic equation. Do you agree ?

o Watch Video Solution

35. Use Euclid's division lemma to show that

the square of any positive integer is of the


https://dl.doubtnut.com/l/_v4KD1Y6beR4e
https://dl.doubtnut.com/l/_o9aM2SiOsUUe
https://dl.doubtnut.com/l/_yiyqAl35gGrm

form 5n or 5n + 1 or 5n + 4, where n is a

whole number.

° Watch Video Solution

36. Show that ,/5— /3 is an irrational

number.

o Watch Video Solution

37. Draw a graph for the polynomial

p(z) = z® + 3z — 4 and find its zeros from


https://dl.doubtnut.com/l/_yiyqAl35gGrm
https://dl.doubtnut.com/l/_KWBMMuOsTGIW
https://dl.doubtnut.com/l/_bHo0Mql8HLK5

the graph.

o Watch Video Solution

38. Draw the graph of =z +y =11 and
x —y = 5. Find the solution of the pair of

linear equations.

o Watch Video Solution

39. A train travels 360 km at a uniform speed. If

the speed had been 5 km/h more, if would


https://dl.doubtnut.com/l/_bHo0Mql8HLK5
https://dl.doubtnut.com/l/_1wx0AvWCK8Xx
https://dl.doubtnut.com/l/_7LsWC7hZTtob

have taken 1 hour less for the same journey.

Find the speed of the train.

° Watch Video Solution

40. Find the sum of all the integers between 1

to 50 which are not divisible by 3.

o Watch Video Solution

41. Find the area of a rhombus ABCD, whose

vertices taken in order, are A (-1, 1), B(1, -2), C(3,


https://dl.doubtnut.com/l/_7LsWC7hZTtob
https://dl.doubtnut.com/l/_w5gpCiATWHO7
https://dl.doubtnut.com/l/_MbxEQaixodJZ

1) and D(1, 4).

o Watch Video Solution

42.1f A={x: x is a prime less than 20} and B =

{x : x is a whole number less than 10}, then

verify

n(AUB) =n(A) +n(B) —n(AN B).

° Watch Video Solution

43.if a,b,c are in AP.then b =


https://dl.doubtnut.com/l/_MbxEQaixodJZ
https://dl.doubtnut.com/l/_dr7V62uobkBE
https://dl.doubtnut.com/l/_MWstw7qViRu5

a -+ c
A.

B.a + ¢

C.\/ac

D. ac

Answer:

o Watch Video Solution

44. If the number of subsets of a given set is

32, then the number of elements in the set will

be


https://dl.doubtnut.com/l/_MWstw7qViRu5
https://dl.doubtnut.com/l/_dYuI4c7etOLq

A2

B.4

C.5

D.3

Answer:

° Watch Video Solution

45, The distance of (3, 4) from origin is

A.3


https://dl.doubtnut.com/l/_dYuI4c7etOLq
https://dl.doubtnut.com/l/_ZXa3FpsMbqwE

B.4

C.5

D.7

Answer:

o Watch Video Solution

46.The sum of the roots of 6z = 1 is

A.O

S| =


https://dl.doubtnut.com/l/_ZXa3FpsMbqwE
https://dl.doubtnut.com/l/_4DROgszNx1ft

Answer:

° Watch Video Solution

47. If the polynomial
p(z) =z* — 22> + 22 —1 is divided by
(x + 1), then the degree of quotient

polynomial.


https://dl.doubtnut.com/l/_4DROgszNx1ft
https://dl.doubtnut.com/l/_sHx1qz6npaZ3

Al

B.3

C.4

D. 2

Answer:

o Watch Video Solution

48. If the sum of a number and its reciprocal is

177’ then that number is..........


https://dl.doubtnut.com/l/_sHx1qz6npaZ3
https://dl.doubtnut.com/l/_krJbJWoSg0JW

A3

B.4

C.5

D. 17

Answer:

° Watch Video Solution

49, If loglo 2 = 0.3010, then 10g10 321is

A. 5301


https://dl.doubtnut.com/l/_krJbJWoSg0JW
https://dl.doubtnut.com/l/_VMff0EKG2ltB

B. 2.301

C. 1.505

D. 0.301

Answer:

o Watch Video Solution

50.The point (-2, -2) is in the ... quadrant.


https://dl.doubtnut.com/l/_VMff0EKG2ltB
https://dl.doubtnut.com/l/_mJDTKvGaLafQ

D. Q4

Answer:

° Watch Video Solution

51. The sum of the first 20 even natural

numbers is

A. 5050

B. 55


https://dl.doubtnut.com/l/_mJDTKvGaLafQ
https://dl.doubtnut.com/l/_WFamLDZYnijZ

C. 505

D. 420

Answer:

o Watch Video Solution

52. The roots of a quadratic equation

az’ — bz +c=0,a # 0are

—b+ /b2 —4ac b+ /b2 + 4dac

A
2a 2a
5 —b+ /b2 —4ac —b— /b2 + 4dac

2a 2a


https://dl.doubtnut.com/l/_WFamLDZYnijZ
https://dl.doubtnut.com/l/_XGxF0qEh8a1l

C

b+ Vb2 —4ac b— /b2 — 4ac

2a 2a
5 —b+ Vb —4dac —b— /b2 — dac
' 2a ’ 2a
Answer:

o Watch Video Solution

53. The probability is sure event is

A.O

C.1


https://dl.doubtnut.com/l/_XGxF0qEh8a1l
https://dl.doubtnut.com/l/_LNuofivWXifM

D. Undefined

Answer:

o Watch Video Solution

54.secf =
A. \/1 — cos’ 6
B. \/1 — tan® 6
C.tan’0 — 1

1
D.
\/1 — sin% 6


https://dl.doubtnut.com/l/_LNuofivWXifM
https://dl.doubtnut.com/l/_NttAyUhhviW1

Answer:

o Watch Video Solution

55. Side of a cube and diameter of sphere are

equal, then the ratio of their volume will be

Ad:m

B.6:7

C.3:m

D.2:7


https://dl.doubtnut.com/l/_NttAyUhhviW1
https://dl.doubtnut.com/l/_akivUoRslwyX

Answer:

o Watch Video Solution

56. A die is thrown once. Find the probability

of getting a prime number,

S|~ W R W


https://dl.doubtnut.com/l/_akivUoRslwyX
https://dl.doubtnut.com/l/_8z05mJd6qPAD

Answer:

o Watch Video Solution

57. A metallic sphere of radius ’ is melted and
recast into the shape of solid cylinder of

radius r’, the height of the cylinder is

A. 3r

%

Ll x| w
=

=

D. 4r


https://dl.doubtnut.com/l/_8z05mJd6qPAD
https://dl.doubtnut.com/l/_JIrNq9bD4il2

Answer:

o Watch Video Solution

58. Mean of certain number of observations is
x. If each observation is divided by m(m # 0)
and then increased by n, then the mean of

new observation is

3|3 3]s


https://dl.doubtnut.com/l/_JIrNq9bD4il2
https://dl.doubtnut.com/l/_LQuDO901qDlh

D. +n

T
m

Answer:

° Watch Video Solution

59. A ladder 15m long just reaches the top of
vertical wall. If the ladder makes an angle of
60° with the wall. Then the height of the wall

IS

A.15,/3m


https://dl.doubtnut.com/l/_LQuDO901qDlh
https://dl.doubtnut.com/l/_z3cI5uVlupHg

15+/3

m

C.75m

D.15m

Answer:

o Watch Video Solution

60. If secf + tanf = x,then secf =



https://dl.doubtnut.com/l/_z3cI5uVlupHg
https://dl.doubtnut.com/l/_XXbQqYPpGuoA

x2 —1
2

x2 —1

Answer:

o Watch Video Solution

61. At point 'P' on a circle, PQ is a tangent and
'O' is the centre of the circle. If A OPQ is an

isosceles triangle, then ZOQP is equal to

A.90°


https://dl.doubtnut.com/l/_XXbQqYPpGuoA
https://dl.doubtnut.com/l/_ug91eASx6dpS

B.30°

C.45°

D.60°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ug91eASx6dpS

